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Read the instructions on the answer sheet carefully. Fill in the necessary information before the announced
deadline.
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Check for any missing pages in the test booklet after the exam starts. "End of Paper" should be present after the last
question.
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Each question carries equal marks.
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Answer all questions. Circle answers on the answer sheet with a pencil and then answer on the electronic device.
Double-check answers on the electronic test paper.
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Select only one answer per question. Multiple answers will receive no marks.
AR TIHE AR, FEHESMEER, AZERGT

BRBETR, N5 414y, Incorrect answers will not result in mark deductions.

Do not leave the exam room until the test is completed. Allocate time for reviewing the test paper if finished early.
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Which of the following number is divisible by 47?

A. 5784318
B. 4756 259
C. 3284072
D. 2987 591

LAITHMER2® x 3°x 5°f12% x 5* x T°HImR KA FEK?
Which of the following is the H.C.F. of 2% x 3°x 5% and 2*x 5% x 7%?

A. 28x3%x 5%x 72
B. 2°x5*
C. 2*x3°x5%x 72
D. 2*x5®
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Find the value of the sum of the first four composite numbers multiply by the
sum of the first four whole number.

A 6
B. 27
C. 33
D. 162
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Giselle spend % of a day on taking a rest. % of a day on revision. The

remaining time on entertainment. How much time did she spend on
entertainment?

2 /NEF 2 hours
6 /N\EF 6 hours
10 /7\B% 10 hours
12 /M EF 12 hours

oo w>
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Which of the following is a positive number?
(_2)B4
A. 6

102

B.(-1) (+2)103 (_3)104

(-42)(-38)
(+72)(-57)

D. _ (+11)(-22)
(-33)(+44)(-55)
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In the figure, A, B and C are three points on the number line. Find the value
of A*C - B.

A B C
4 ; (=) 2
A 11
B. -11
C. 14
D. -14

KU1+ (- 3 - (5] x (2D,

Find the value of [- — + (- =) - (- )]  (35)+(-2).

25
36
25
" 36
125
252
125

T 7252
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A spaceship is now at a position of -150 m (150 m below the space station).
It first move upwards to the position of +700 m, then downwards to the
position of -1200 m. Find the overall travelling distance.

650 m

1900 m
2600 m
2750 m
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Consider the formula y = 3Lbzc Ifa=04,b=- % ¢ = -4, find the value of y.
A =

B 75

C. —=

D

L
150
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Which of the following algebraic expression can represent the word phase “
The difference of 4 minus square of x is multiplied by one third of y "?
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